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BEHRESEREHSD 70 69 1,134 27 1,161 21 4 25 46.44
EHRESHEE-BEYST 30 40 632 632 21 21 30.10
BHRELEREISTI_FNE 60 60 1,030 24 1,054 21 4 25 42.16
EHRESEYEISTBENE 60 60 1,028 19 1,047 21 4 25 41.88
BHRELEREISTRENE 40 40 678 678] 21 21 32.29
INRREEREIST 40 45 820 11 831 21 4 25 33.24
NLERBEHESEIST=ENE 40 39 657 657 21 21 31.29
TIRBREEREYIST 40 48 813 22 835| 21 4 25 33.40
IHEBREESEISIHINE 60 60 1,068 1,068 21 21 50.86
RABREEPEHIST 60 69 1,169 25 1,194 21 4 25 47.76
HEBREEPEIST—FHE 40 44 778 9 787 21 4 25 31.48
HABREEPEIST=FNE 40 18 298 298] 21 21 14.19
MEREEFESSD 40 42 751 7 758| 21 4 25 30.32
ML RBEREFEISINE 40 33 581 581 21 21 27.67
MEREEYEISTE-NE 60 40 670 670 21 21 31.90
i) REEFEIST 60 70 1,162 10 1,172 21 4 25 46.88
M) REEFEISTHHNE 40 40 697 3 700 21 4 25 28.00
X REEFEIST 50 46 806 16 822 21 4 25 32.88
Xt RBRE_FEIS5T 30 15 282 282 21 21 13.43
XIEREEFEISTRENE 40 33 561 561 21 21 26.71
)| RELEFEHST 60 70 1,281 23 1,304 21 4 25 52.16
NEREEREIST 60 69 1,092 17 1,109] 21 4 25 4436
NEREEZEISTHE 40 40 664 664 21 21 31.62
NEREEREISTEINE 40 43 728 19 747 21 4 25 29.88
INEIF AT EREEREHIST 70 70 1,219 18 1,237 21 4 25 49.48
INERBATEREEEEISTHE 40 40 669 669| 21 21 31.86
OBEAZA =T A—2EHST 40 44 775 9 784 21 4 25 31.36
HKOBASA= TV A—2EISTERNE 40 40 663 663| 21 21 31.57
Rt REEE 1,330 1,327 22,706 259 22,965] — — — —

RS =T REFESSD 60 52 836 836] 21 21 39.81
BEBISA—T/REFEISD 40 15 226 226| 21 21 10.76
B2 =T LEFEHST 60 58 1,042 1,042 21 21 49.62
BINDZ2 =T REE—FEHST 60 56 969 969| 21 21 46.14
31T/ SfEE 220 181 3,073 0 3,157 — — — —
WAE 1,550 1,508 25,779 259 26,122 — — — —
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1 | P REETFEISD 60 70 1281 23] 1,304 21 4 25 5216 | 1
2 | IEERERTEISIRIINE 60 60 1,068 1,068 21 21 5086 | 2
3| RIS =—T R EFEIST 60 58 1,042 1,042 21 21 4962 | 3
4| NEFRHTERERTEIS5D 70 70 1219 18] 1,237 21 4 25 4948 4
| RABRERFEIST 60 69 1,169 25| 1,194 21 4 25 4776 | 5
6| LIREEFEIST 60 70 1,162 10 1,172 21 4 25 46838 | 6
7 | BERRESETEEIST 70 69 1134 27 1.161 21 4 25 4644 | 7
8 | BIDS1—TaEE_FEI5D 60 56 969 969 21 21 46.14| 8
9 [ NEREEFEIST 60 69 1,092 17| 1,109 21 4 25 4436 | 9
10 | BERRELETEISI _S0= 60 60 1,030 24 1,054 21 4 25 4216 | 10
1 | EARELEFE/SRELE 60 60 1028 19| 1,047 21 4 25 4188 | 11
12 | BB aS =T e E 5D 60 52 836 836 21 21 3981 | 12
13 [ IRBRERTE 5D 40 48 813 22 835 21 4 25 3340 | 13
14 | NEREEFZEISD 40 45 820 11 831 21 4 25 3324 | 14
15 | XTEREEFEISD 50 46 806 16 822 21 4 25 3288 | 15
16 | ERRELETE/SIBERE 40 40 678 678 21 21 3229 | 16
17 |t REETEISIE = 60 40 670 670 21 21 31.90| 17
18 | NERGAHTERERFEISINE 40 40 669 669 21 21 3186 | 18
19 [N FREEZEISINE 40 40 664 664 21 21 31.62| 19
20 [ SBIBaSa =Tt 8—FBISIEMAE 40 40 663 663 21 21 3157 | 20
2 | ERERERTEIS) —SHE 40 44 778 9 787 21 4 25 3148 | 21
22 | &Kol a—T e h—FEH5D 40 44 775 9 784 21 4 25 3136 | 22
23 | \NEREEFEISI=BNE 40 39 657 657 21 21 3129 | 23
24 | AREREETFEITT 40 42 751 7 758 21 4 25 30.32 | 24
25 | ERRESMEE T8I 30 40 632 632 21 21 30.10 | 25
26 | NFREEFEISIEFNE 40 43 728 19 747 21 4 25 2088 | 26
27 | IR EEFE /ST PN E 40 40 697 3 700 21 4 25 2800 | 27
28 | IREREREFEISINE 40 33 581 581 21 21 2767 | 28
29 | XIERERFEISIRLAE 40 33 561 561 21 21 26.71| 29
0 | EAERERFEISIFNE 40 18 298 298 21 21 1419 | 30
3 | XERERE_FEI5T 30 15 282 282 21 21 1343 | 31
32 | BEBIS1I—T 2T EIS5T 40 15 226 226 21 21 10.76 | 32




